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Question Paper Code : 71747

- B.E/B.Tech. DEGREE EXAMINATION, APRIL/MAY 2017.
Fifth/Eighth Semester
Electronics and Communieation Engineering
EC 6801 — WIRELESS COMMUNICATION
(Common to Robotics and Automation Engineering, Information Technology)
- (Regulations 2013)
: 'I‘ime.: Three hours Maximum : 100 marks
Answer ALL questions.
PARTA —(10x2= 20_ marks)

1.  What is the major advantage of wireless communication?

2.  Define Coberence time. In what way does this paraméter decide the behavior
of wireless channel?

3 Why is cellular concept used for mobile telephony?

4. In a cellular network, among a handoff call and a new call, which one is given
priority? Why?

5.  What is the basic advantage of usiné Multicarrier schemes such as OFDM?
6.  State any two advantages of MSK.
1 7. Whyisan a@aptfve equalizer required?
8.  What is diversity? Why is it employed?
9.  What is spatial multiplexing?

What is Channel State Information? What is its benefit?
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Derive the expressions for Cellular CDMA schemes for both noise
limited and interference limited scenarios. (10)

Consider Global System for Mobile, which is a TDMA/FDD system
that uses 25 MHz for the forward link, which is broken into radio
channels of 200 MHz. If 8 speech signals are supported on a single
radio channel and if no gua:dband is assumed find the number of
simultaneous users that can be accommodated in GSM. ®

1f GSM uses a frame structure where each frame consists of eight
time slots, and each time iot contains 156.25 bits, and data is’
transmitted at 270. 8337' kbps in . .channel, find
(1) the time duration of a Bﬁ(z) the time duratlon of a slot (3) the
time duration of a frame anﬂ (4) how long must a user occupying a
single time slot wait betwaog(wo successive transmissions? R )

Why are constant envelope modulation schemes sueh as MSK and
GMSK used in a wireless eommunication system? Compare and
contrast these two modulation techniques. : ®)

Describe OFDM scheme state the reason behind using cyclic
prefix in OFDM scheme. What is PAPR” Why is it normally larger

in a OFDM technique? 't (8)
Oor
Discuss the error performa? of different modulation schemes in
fading channels. (10) -
What is Offset—QPSK? Whpt is its advantage" Describe the
Offset—QPSK scheme. 2 (6)
Describe the role played by;i‘gualisaﬁon and diversity as Multipath
mitigation techniques. " pare and contrast these two
techniques. ; (10)

&
Consider the design of thojéjs Digital Cellular equalizer, where
f = 900 MHz and the mobile velocity v = 80 km/hr, determine the
maximum Doppler shift, ﬂmﬂherenoe time of the channel and the
maximum number of symb@ that could be transmitted without
updating the equalizer asalmmg that the symbol rate is 24.3 k
symbols/sec. (6)

With a sketch, describe RAKE receiver. ®)
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